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Summary of Project:

Reciprocating machines are widely used for exploration and transportation of natural
resources in the Black Sea Region, for example in Baku-Thilisi-Ceyhan Main QOil
Pipeline, there are 8 pump-compressor stations (2 stations in Azerbaijan, 2 stations in
Georgia and 4 stations in Turkey). Piston machines (PM) are heavy-duty systems that
are still failure prone due to high stresses and wear. Increasing the reliability and
durability of piston machines corresponds therefore to actual needs and political
demandsof reduced environmental impacts during exploration and transportation of
resources.

A multidisciplinary study on reciprocating machines for petroleum industry is
proposed. The project brings together experts from Azerbaijan, Georgia, Turkey and
Germany in order to develop an integrated model of the piston machine system that is
then used to evaluate and improve current designs. 'Dynamical analysis of Piston
Machines and increase of reliability of pump-compressor stations'(Azerbaijan team),
‘Analysis and determination of the friction losses in piston assembly'(Germany team),

H ' fiwear resistance materials for reciprocating
Research of damage intensity of various elements of

crank — piston mechanisms in different technical conditions'(Georgia team) are the
aspects on the agenda.

The research efforts will lead to more reliable and efficient design alternatives for
reciprocating machines as are used for the transport of oil and gas and will thus
contribute directly to the competitivity of a key industry in the Black Sea Region.
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Compressor Station in Oil Industry
1. A drive, 2. Piston Compressor, 3. Foundation, 4. A gas pipeline, 5. An intermediate and
trailer refrigerator, 6. The purge gate, 7. A receiver, 8. The filter
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Indicator Diagram of Piston Machine




The differential equations of thermodynamical
process of piston compressors

1.The indissolubility equation

% +div(pW )=0

2. Energy equation
dq,, =di+Wdw
3. Equation of motion

vdp+WdW +dL,, =0

4. State equation of gas

Pv =zRT
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The scheme of Piston assemble with gas stream in clearances of piston :::‘
rings and cylinder. o0
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The scheme of crank-piston mechanism with acting forces



Equations of kinetostatics of Piston machine

-P+P'-G,, -G, -R"-F"-F"-F"+ ) FI"+) F"+) BN cow+F;sin

-N+YF."+>YF" +N,sina+F,” cosa=0
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-P+P -G, -F"-F"-F —-F/-N_cosf-F,sind=0
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Parameters of Piston Compressor 505 Bl120/18

o o 6 | N H | NH N,.H A, m
4720° 7449 -29 15012 | 2,02

15° | 173° 893 -37 340 0,12
300 | 174 | 1920 | 21487 | 1422 14329 | 0,03
45 | 171° | 194° | 30338 | 4060 26676 | 0,016
60" | 163° | 196° | 32333 | 4693 26781 | 0,013
75" | 165" | 197° | 28345 | 4791 24494 | 0,011
90" | 162° | 197° | 25483 | 4524 23027 | 0,01
105° | 161° | 196" | 24239 | 4420 24322 | 0,012
120° | 165° | 195 | 31326 | 5611 33174 | 0,014
135° | 162° | 194" | 15861 | 2410 20229 | 0,024
150° | 154" | 190° | 7218 983 12894 | 0,043
165° | 33 | 1870 | 2780 104 5492 0,02
180° | 5° 186° | 4626 25 3613 | 0,058
195° | 4 110 | 15215 | 1460 7203 | 0,032
210 | 6 -13° | 34731 | 3429 26286 | 0,021
225 | 6 -16° | 32129 | 4875 27276 | 0,012
240" | 50 -18° | 24703 | 4512 21448 | 0,008
255" | -040° | -19° | 15830 | 3556 14984 | 0,007
270° | -3° | -19° | 13676 | 3674 14462 | 0,008
286" | 5° -17° | 21365 | 5237 24781 | 0,009
3000 | 4 -16° | 17092 | 4660 22206 | 0,011
315° | 1200 | -14° | 13324 | 2893 19339 | 0,017
330" | 0715° | -12° | 10051 | 1601 17038 | 0,03
3450 |10 90 | 8991 864 16370 | 0,066
360" | 4 6" | 8515 14 16076 | 4,35




Parameters of Piston Compressor 405 I'T115/70

(] o 6 N, H N, H N, H AMm
0° 4° 3° 6324 -17 23420 3,04
15° 5° 10° 5213 -24 20335 0,09
30° 162° 181° 8920 -980 20500 0,07
45° 165° 187° 22410 -3270 23412 0,02
60° 160° 192° 25423 2588 24487 0,02
75° 158° 190° 23129 3920 24083 0,01
90° 156° 185° 20230 4244 22483 0,01
105° 154° 180° 20120 3783 24626 0,01
120° 159° 173° 28931 4974 30092 0,02
135° 160° 170° 12843 3427 24326 0,03
150° 138° 157° 6924 1807 17129 0,04
165° 112° 148° 4288 98 6218 0,03
180° 12° 140° 5371 34 3780 0,08
195° 11° 102° 12307 37 6893 0,04
210° 8’ -15° 26420 3249 18215 0,03
225° 7 -18° 26028 4200 24326 0,01
240° -2° -20° 22790 4035 22780 0,01
255° -2° -28° 16370 3874 13051 0,01
270° -3° -25° 13212 3780 13489 0,01
286° -1° -20° 18448 4983 25120 0,01
300° 6° -20° 14417 4554 21112 0,01
315° 5° -18° 12370 3719 17150 0,02
330° 3 -10° 11910 2100 16015 0,02
345° 2 -7° 7486 878 16214 0,05
360° 4° -2° 6500 10 14871 3,07




(2.5)

(2.9)

(2.2)

(2.3)

(2.4)

(2.6)

(2.8)

d(PVr )=icds,

VvdP = d(Gi)-ifi,dG,,

idG, =a,f W, p, iidr

K

KPAV +VdP = KTB(pij " d(%j = Ki ‘o £, W, Pd 7

d?x

dr?

(PB - P)fc‘//_C(Xi +X)if

(2.11)



, A,
. / O/
A, /
— ==
-Pu.g T‘M Wy i ey e
W = S R
\\ «\\ N \\\ \\ 5%
NEE NSNS FENNNNN
P | T E | &

The scheme of the valve of compressor

(5

L2

41

{0

a9y

al

g2

a5

qv

Y



oLy
10
29 }{\ s
a8
27
as |
25 | ¢
X
KA 7 22 25 ay 45 8
aU—I
%
2 3
X X X
a, =a0+a1+a2[j +a3()
8 8 6
(2.12)
2 3
X
Y=Yty — ‘H//z( j +V’3(;j ,
(2.13)
kp, V. _kap OV _y 4R _ o ap X+A L [Ap,X* +
dr dr dr

+Aa2,/Ap X3+A NX“——lSAaOAp Ap, X -

_13A alA \/7)(2 13 2A FXS 13A 053 AP, fPX“,
P,

(2.18)



2 L X X

m d = fyoAP, + AP X+ fo Yeap, x4 0000
4 6 6 0000
|4 ‘e ‘e [ X X
+ fc-g—jAPBGX3—|nCXé—|nCX 4
o
(2.19)
KPHd—V+VM+KAPHd—V:—AHaO AP, X - A, % [AP, X2 -
T dr dr 6
-A, %2 [P, X0 - A, 22 JAP, X" + /T:”’/laOAPH AP, X +
6 6 o
s Bk @ p ap, X2 Pt 2z AR Xy Bt S ap AR XY,
Py 6 Pr 6 n 6
(2.27)
d’X (o1
M= (P =Py ) foy =] C(x} + x|
(2.29)
2
s i( = foyAP, + f¢ %AP,,H fe %Apﬁxz + fe %APﬁxs —i"CX ¢ -i"CX
4 2 3
(2.30)
AP, =a, +a, COS wr + a, Sin T + a, COS 207 + a, Sin 2o7
(2.32)
X =86,+86,C0S@r +6,SIN Or +8,c05207 +6,SIN 207
(2.33)

V =H +Ecoser + Fsin®or |
(2.34)



r=\/R2+ef—2Relcos((p—a),

(3.1)
y = arcsin 7£15in(:0 —a) ,
(3.2)
0B L
sinf sin180°—p—y)’
(3.3)
OB—r-— e,sing
' sin(p +7)
(3.4)
p’zarcsinl Singo\/RZ+elz—2Relcos@—a)—elzsin2(¢)—a)—
L —e; sin(p—a)cosp—e, sind
(3.5)

X, =rsin(p+y)—n.sinpg
Y, (36)

=-rcos(¢ +y)+n, Cos S,

quH:mO Xk wn o0
” qy :mOyK

q:" =0, cosf+q," sin B

0? o .
s Q+—Qdf7—Q—mogdr78mﬂ+q;’”df7

m,dn—-=
3.7 b Uat?_ Py



J coo

Element of connecting rod

Scheme of crank-piston
mechanism
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(3.28)
au:CZau+ F. W,
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F* =a’ +Y (a°cos Swt + b sin Swt)

(3.31)

W, =a? + Y (a cos Set +b? sin Seot )

(3.32)



gas
L]
Fo? F"P R P-pP

a; | by | as b a’ b al b
2,05 |0 233 |0 3592 [0 6672,5 |0
113,35 [-121,4 19,05 |-105,05 |-619,6  -1160,65 -9593 |112,5
435 1,05 |-2895 |-29,95 |-2693,95 |-4273,05 |10608 |135,0
67,9 |-36,65 |-48,33 |-31,65 |10041,9 1254075 92845 |-312,5
395 |18  |-2229 |-615 [32453 35204 8262  |192,5
5376 |-5,25 |-36,35 |-9,1  |2024,3 41675 |34485 |-144
125 |-0,0001 18,3 |0,00025 [3526,8  |-0.1 5826,5 |-0,001
5376 525  |-36,35 9,1  |2024,15 |-4168,05 (34485 |1445
395 |18  |-2229 6,15  [32453 35205 8262 |-1925
679 [36,65 |-483 [31,65 |100414 -12541 92845 |312,5
435 (1,1 |-2895 (29,95 |-2693,85 42734 |10608 |-135
133 [121,4 19,05 |10505 |-619,6 |1160,77 |-95935 |-112,5
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N = a cosmt + ¢, Sin wt + a, cos 2wt + 8, Sin 2wt



X(yt)= @, (y)cos %t+ H, (y)sin %t+ @,(y)cos ot + H,(y)sin ot

(3.47)
2
EJ
_a)_@l _i@lll _iHlll +—CD11‘V ~0
4 2m 2m m
2
E
_a)_H1+iH111_id>111+—JH1N =0
4 2m 2m m
(3.48)
_a)Z@z_zaz @l - 6, H;1+£(D§V ~0
m 2m m

a 8 EJ
—a)2H2+ 2Hél_ 2qb§1+ éV:O
2m 2m m

(3.49)
D" (y) + P @y (Y) + 6, @, (Y) =0

(3.50)
_ mao* _ a12 _ b12 m'w’
2E]  MEJ) AES) N T ey

1

(3.51)



i |
i
4 4
A A
. \
1
]
oy
s
f
[
T
|
r
ooy
)
1

¥

o . 000
ta,lee W +a,L 008 r,y+a,lgsinr,y, oo

(3.53)

1

a = - [(— w’m- 2}’12a1 + 47”14EJX2611 + 4”12EJ)_ 4b12r12]
2b,w"m

1

a, = e [(— o’m+2rla, + 4r14EJ)(2a1 - 41’12EJ)+ 4512”12]
1

[(— w’m-2r}a, +4r, EJ )(Za1 +4r/E] )— 4b; rzz]

oy =
2b,w*m

a, = 2b12)2m [(_ o’m+2r/a, +4r)E] )(2&1 ~4r)E) )+ 4b/ rzz]

D,(y)=Me" +M,e™ +M, cosk,y+M, sink,y+ M. +
+Me™ +M, cosk,y+M,sink,y
(3.54)
H,(y)=pMe"Y + B Me™ +B,M,cosk y+B,M,sink,y+
+ B M e + .M e + B, M, cosk,y + B,M, sink,y.

The scheme of Piston group
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3‘.?
N

P
e (RSP ()

8

(4.0)
dL,, = Fds,

(4.2)
0,57(D - 4a)P — 0,52bDP" + 27bDP,, —

L, = 28 e N N\ ||ds
o] —27zbaP{0,75+0,38(Pj —0,69(%) +0,09(P] —0,002(P) }

P P P
(4.3)
dLC = chp ds
(4.4)
025 05 075 10
2(dy —d, )| 2,202P" 10,933 00,2022+ 0,057 —2_ 0,006 L |+
Le :/’C”blz ‘ 1{ (P )1'5 (P‘)A (Pl)&S ®)° ) s
+(2dy —a, P+ 20,Ppn 2 -d P
(4.5)
LFO'f'ﬂ = ll’llcnro'J- NO'de’ (46)
Lanp = jﬂmrANAd(a +o)= ﬂmrAjNAda +ﬂturAjNAd¢)
@.7)

Lw =jﬂKN ds:,ukSJBNds—,uk}Nds
0

Sp

(48) ™

Lx.n.=2 ,
M = %72}1 abje* + mu aez(Sb1 + 6b,a + 7b3a2)+
2mu aT(t)(cla +2c,a’+ 303a3)— mu ae *T(t)(2¢,+15 c,a)

L,=L, +L+ LF:,,, + LFTP + LF;P +L,



(4.9)

(4.10)
Ipu
Ilpu

(4.11)

(4.13)

(4.14)

rg =a+h,

h =? +e cos? .

rg= a+? +e cos? =B+e cos?

2
P_ 0N 1 0Ny 13Vp

p L1 1Yy Yy
o0 o 1?2 g% ror r?

Ny (1 Np Vr_

0,
or r 060 r

u
r=a,V,= ,V=0
r:rBl V? :Oy VFO

Vot 2(n)??(2)+7(n), (4.12)

w(0)=Cp+Cycosd + Cpcos 26

go(r):a0+a1r+a2r2}

7(r)=6, +6,r +6,r°

M(D(rB)‘//(e) + T(rs) =0

[vv,dr=c,



The scheme of sliding bearing of piston machine



2 ap 000

!%"9:0 (419) gooe
XX
[ X )
o
P =l ) g’ (o) ofa)p0)+ Ll o)+ ) 2 o)
(4.20)
uC{aq)”(a)+ o'(a)- _go(a)} N {ar”(a)+ /(a)- ; f(a)} -0
(4.21)
M= ”PrH‘r:aade'
(4.22)
1 8V, ov, v,
Proliea = ﬂ(?' 00 = or '"* ¢ j
r=a\V.=0 N

' H\e/: ,TOag‘f‘a:



2
M = aZyUgol(a)_[w(e)d& +2mua’r(a)- 2mauu = 2782 uupt(a)C, + 7(a)]- 2mauu &
0

= 27a” uluC,aa, + 2uC,a’a, +ab, +2a%, —u (4.23)

(4.25)

Q = m’ue'(a)C, - na,uuCl[goll(a) +¢'(a)- é gp(a)} -

= 7z,uC1(a2a1 +2a’a, — 2aua, — aua, — 2a°ua, + 2ua, + 2aua, + 2a2ua2)

(4.26)



TenmnoBoi pacuer NnOAMMNNHUKA CKOJbxKeHUus 1K

000
g=0; +0,, ....
fou 0000
w =ty o<ty ], 066
2(cpV +kA) Y )
[

bt 4 f7uuC, [a’'(a) - uag'(a) + an’(a)—2uw(a)]§[tM] |
2(cpV +kA)

4.4. Metoauka onpeaeaeHHsI MOMEHTA TPEHHS B MOAMIMITHUKE CKOJIbKEHUS
IIK mox gelicTBMEM NepeMEHHOM HATPY3KH
P=P,+P,sin(at+5)
(4.27)
e=¢e, +e,sin(ot+5,)

(4.28)
r,=a+ecosé

ov, 1 oP o, 1 0%, 1 eV, 2 oV, V,
T TtV T T e T Y ey T
ot pr 06 or r- o6 r-or r° 00 r
(4.30)
oV, 1 0P oV, 1 0%, 1 oV, 2 oV, V,
=——.— 4V + — ——
ot p or or: r? 90* r or r* 06 r?
(4.31)
N 1N, Vg
oo r 060 r ’

(4.32)



XX
o000
npu  I=r. V,=Vg, V, =V, :::0
o0
npu I=rg Vo=0, V,=0 o
(4.33)
V, = o(r et )cosd +w(r et sin 6
(4.35)
o(r)=a, +a,r +a,r’ +a,r’
(4.36)
w(r)=bo +b,r +b,r2 +b,r’
(4.37)
V, = et ), (r)cos @ — et o, (r )sin 6 + = (r ) (t)
(4.38)

7(r)=Co +C,r +C,r2 +C,r’,
(4.40)
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Diagram of velocities of particles of
lubrication



'YX
27 OP 0000
J, 5440=0 000
o0 0
(4.57) :o
P _ [V, 1V 1N, 2 0V, _\ﬁ\z_%
00 or? r2 00% r oOr r2 00 I‘2) ot

89 = Pv[ (t)r l//l(r)cos 0 — e(t)rqol(r)sm 0+ rf(r)T(t)—
ZW(r)E(t)cos 0+ 2e(t)(ﬂ(r)sm 0+ e(t)//l (r)cos g — E(t)(pl (r)sin 04+

(0 ()- % () (t)} — pe )y (r)eos 0+ pEEr e, (r)sin 0 — pre(e)r ()

60+ Lot )-2 o) e, X -0

7(r, )+ f(r )+ f(r) 0

(4.58)

N o-[" in6do
Qx _-[O I:)rr/r:rcrccos‘gd _-[O Pr@/r:rc re sin@dod

(4.59)

27 / 046 27 / 640
= P r. sin +I P I- COS

(4.60)
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Puc.4.4. [Juacpamma pacnonodxcenus cun oeticmgyowux Ha yangy eana

2z 2z
M = ajo P,,r.cosyd@ — a_[o P,r. sin yd@

2z 2z .
M = ajo P, _.rdé —e(t)J'0 P, |, T, SiN OO
e [0V, v, 2z , 27 ov, -
M—a,ujo [66’ r=rC+rCF ,zrc—vgjdéwejO r.Psin 0d0—ejo 2u Py rr Te SIN

M = %W ab e’ + mu a€2(5b1 +6b,a + 7b3"2)+

2mu aT(t)(cla +2c,a’ + 3c3a3)— muae *T(t)(2¢,+15cqa)

IZ% k703'33
o\ x,Q ,



4.5. MeToauka pacyeta MexaHUYeCKUX NOTEpPb B KOPEHHbIX NOoALMUMHUKaX :00

KOoJqieH4YaToro BaJsia nopwHeBbIX KOMMNpeccopoB

“f

The scheme of crank-piston mechanism



p=a—-a =a-arctgu,, 000

0000

0000

w,:dﬂ:da:dadqp:dawo i:d_a P
dt dt dod dp °'w, dp o0
o

(4.72)

 F, = Nl-I—NZ—RACOS,B—Zmla)()z%COS(/)—mza)gRCOS(p:O

1z

IX

*F, =F™ +F,” —R,sin g +2mla)§%sin @ —m,w¢Rsin ¢ =0

=m,(F,)= R, cos BRsin ¢ + R, sin AR cos o-(F™ +F)r=0

wZ(m, +m,)Rrsin ¢
RA = N 5
rsin g—Rsin(f +¢)

(4.75
w,, =Ww(F” )MW(F”"P J= 1 Nogr+uNor=uNr(o,+0)

(4.76)
W,, = R,sin(a - )Ry,

(4.77)
c_W, =1y o' \tgpcos B +sin f—ksin(f+p)
w, U o, ktg ¢ sin (arctg z,, )
(4.78)
o' da



Main bearing of crankshaft
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» | o f f f f f f

k=1,2 | k=1,46 | k=1,92 K=2 k=2,6 k=2,5
0° -10° | 0,2556 | 0,139 | 0,015 0 0,088 | 0,076
30° | 169°30' | 0,008 | 0,047 | 0,008 | 0,093 | 0,1232 | 0,12
60° | 158°30 | -0,007 | 0,004 | 0,002 | 0,002 | 0,0004 | 0,0006
90° | 157%30' | -0,015 | 0,0127 | 0,0096 | 0,0097 | 0,0072 | 0,0074
120° | 160°30' | 0,0201 | 0,0168 | 0,0132 | 0,0128 | 0,0104 | 0,0108
150" | 149"30' | 0,0532 | 0,0297 | 0,0048 | 0,0015 | 0,0164 | 0,0138
180° | 0°30' | 0,0156 | 0,0242 | 0,0826 | 0,0892 | 0,131 | 0,1254
210° | 130" | 0,0238 | 0,0356 | 0,0312 | 0,0176 | 0,0272 | 0,028
240° | 030 | 0,0155 | 0,0226 | 0,0176 | 0,0181 | 0,017 | 0,0172
270° | -7°30' | 0,0154 | 0,0128 | 0,0058 | 0,0094 | 0,0072 | 0,0074
300° | -0°30' | 0,0104 | 0,0076 | 0,0046 | 0,0041 | 0,0019 | 0,0022
330° | -4°15' | 0,006 | 0,0091 | 0,0126 | 0,0131 | 0,0154 | 0,0152
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Relationship between coefficient of losses and angle of
rotation of crankshaft
1. k=1,92; 2.k=1,46; 3. kK=2,5



Oscillation processes in Piston machine
Accuracy and reliability of piston machines




?=f,()¥ t
(5.1) "o
"= f5(1), “
(5.2)
=)
(5.3)

_AO'sin y + O'Csin @ + CBsin B+ BAsina =0
AO'cosy —0'Ccosd —CBcos B —BAcosa =0

(5.4)

CB=L, AB=¢,, O'C=¢,,
AO cosy =0D =Y, +rcos

AO'sin y = rsin @,

—rsingp+e,snf+Lsin f+esma=0



o, O°

180 1
160 1
140

1201 ¢

100
80 1
60
40
20

— e, c058 — L cos e COS
Y |+ Rcosg — e 0 b - 0‘.3.

(0]
0000
(5.6) 0000
1 ‘XX
sinﬂzE(Rsin(p—ezsine—elsina) :0

Y, =€,c080 —Rcos¢g + Lcos j+e, cosa

OB = OA + AB

o

4" o O ©
2fo, 47 Tp, sopaiio 0 X, = OA'sing — 4B cos(ct —90°)

Y, = 04cos(180° — ) — ABcos(180° — @)
B

Xz =Rsing—-e sina = Rsina)t—elsin[fz(t)]}

(5.9)
Y =€, cosa — Rcosg =e, cos|f, (tP R cosmt
Xg = Rsin ot - e, Sin[ f, ()],
(5.10)
Ys =¢, cos[f,(t)]) — Rcosmt,
(5.11)

sin g = %{R sin ot — e, sin[ f3(t)] — ey sin[ fo (1)1}

(5.12)



AY, =Y, Y] —e, =Y, +e,c080 + L(cosf—cos3,)—e,

(5.13)

(5.14)

V.= - Rcos? +y, +Lcos ? +e , cod? .

VS =-Rcos? +Lcos?,,

001 = O4 + AB + BC + CO

0
Rsin? -x, - Lsin? -e,sin =0
0
x,=Rsin? -Lsin 7 -e;sin

Xg _ Rsingo_l_sinﬂ_e sind

tga tga tga

(5.16)

? tga

sin g, = %sinq)

sin §§ = %(Rsingo—elsina—ezsin 0)



Re, . : -
AY , =e cosa+e, cost—e, bt
Re, . , el e ee, | :
z 1 2 2 sinasin 6
2L
(5.18)
AY —e,m,Sina — L(wcosgsina + o, sinpcosa )+
Re : :
2 (wcosgsin @ + w, sin pcosd)
(5.19)
AY 1 = —el(a)lz CoOS @ + &1 Sin a) — ez(a)§ cos 6 + &5 sin 6?) —
Re Re : :
- L (0)2 + colz)sm @ sin o — Tz(wz + a)g)sm @ sin 0 +
2 Re 2 Re
+ L w1 COS & COS o + 2 @@ COS ¢ COS 0,

(5.20)



it ! Yo
00 2.98
150 0.61
30 -2.82
45 -2.78
60 -2.76
75 -2.79
90 -2.73
105 -2.67
120 -2.79
135 -2.73
150 -2.55
165 -0.39
180 -0.005
195 -2.96
210 -2.94
225 -2.93
240 -2.98
255 3.04
270 3.35
285 2.97
300 2.99
315 3.005
330 2.99
345 2.98
360 2.97
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The scheme of piston assemble with crosshead



=4

30 60 90 120 (50 180 200 240 270 300 330 360 p°



¢ dN ,/dg dN, /de 0,

0 -500 -854 7,46
15 0 -294 4
30 794 956 1,07
45 986 3568 -0,53
60 -147 -14 -0,25
75 -220 -118 0
90 -30 -28 0
105 177 74 0
120 441 470 0
135 -150 -44 -0,4
150 -588 -515 -6,93
165 0 -368 0
180 500 -294 0
195 883 0 0
210 950 1074 0
225 0 368 0
240 -324 0 0
255 -426 4472 -0,26
2170 220 -220 -0,66
285 0 0 0
300 -191 235 0,26
315 -324 765 0,4
330 -191 0 0,53
345 -74 -265 0
360 -60 -14 0




1.YpaBHeHuem cocTosiHUSA
P

oD

=RT l——
Yo
T i
(6.1) I‘k

2.YpaBHEHHEM HEPAZPBIBHOCTH

G = pWf

(6.2)
3.YpaBHeHHEM  JBWKEHHMS B  BHJE  YypaBHEHUd  bepHymm B

nuddhepeHnnanbHoi popme

d—P+WdW +dL,, =0
P
(6.3)
W? dx
dL, = —
w =t 2 D

(6.4)

dx
PT




0,221 65)
& =0,0032 + net
PpWD
Re = F—
y7i
oY GRT
W=—
Pf
T
(6.7) - §
aw = -—;
P°f
2p2m2
(68) G2R2T2 dp+§GR ]27 dx:o
RTPdP — — ) 2Df
G*R’T?
G’R’T> p L
E(PZ _ P()z) _ : po 2f2D
2



P,=4,905 MIla, To=300K, Go=2kr/c

0,100 0,125 0,150 0,175 0,200

10,2
49 | 1,567 10° | 4,577 10° | 11,0447 10°| 23,267 10° | 44,2737 10°
48 | 309? 10° | 9057,43 | 2186585 | 46659,32 | 8765323
47 | 459518 | 1344747 | 32464,07 | 68383,96 | 13013821
46 | 606375 | 177451 | 42839,18 | 90238,68 | 171728,93
45 | 7500,69 | 2195028 | 52991,16 | 111623,3 | 2124255
44 | 8906,03 | 26063,01 | 62919,93 | 132537,9 | 252227,54
43 | 10279,78 | 383,32 | 7262562 | 152982,6 | 291134,04
42 | 11621,92 | 34011,15 | 82108,12 | 172957,1 | 329146,79
41 | 12932,46 | 37846,54 | 37842,18 | 1924674 | 366265,11
40 | 1421133 | 41589,49 | 100403,8 | 211496,12 | 402488,96




Po=7,3575 MIla, T¢=300K, Go=2xr/c

2 0,100 0,125 0,150 0,175 0,200
10,2P
74 | 2353,205 | 6885,88 | 16622,97 | 35015,01 | 66634,94
73 4674,81 | 13679,31 | 33022,77 | 69559,93 | 132375,3
72 6964,85 | 20380,36 | 49045,21 | 1036351 | 1972218
71 9223,27 | 26988,94 | 65153,14 | 137240,1 | 2611735
70 | 11450,11 | 33504,64 | 80883,58 | 170375,17 | 324230,8
69 | 13645,35 | 399928,79 | 96390,89 | 203040,17 | 386393,6
68 | 15808,49 | 46260,06 | 111675,05 | 253253,15 | 447662,03
67 | 17941,11 | 52498,22 | 126736,11 | 287408,14 | 508036
66 | 20041,51 | 58645,31 141574 | 298215,11 | 567515,52
65 | 22110,37 | 64699,25 | 156188,74 | 329000,04 | 626100,5
Py=9,81 MIla, T¢=300K, Go=2kr/c

102 0,100 0,125 0,150 0,175 0,200

99 3143,02 | 9196,76 22201,38 46765,31 88996,06

98 6254,44 | 18301,09 | 44179,62 93060,6 177098,47

97 933429 | 27312,99 | 65934,74 138885,9 264304,86

96 12382,53 | 36232,45 | 87466.69 | 184241,16 | 350617,66

95 15399,18 | 45059,48 | 10877554 | 229126,44 | 465285,89

94 18384,24 | 53794,05 | 129861,23 | 273541,68 | 555480,16

93 21337,72 | 62436,21 | 150723,76 | 317486,92 | 644719,14

92 24259,59 | 70985,95 | 171363,24 | 360962,18 | 686924,15

91 27149,61 | 7944324 | 19177954 | 403967,4 768764,7

90 30008,57 | 87808,09 | 211972,71 | 446502,64 | 849710,79




Taoauna 6.4

P,=4,905 MPa, T¢=300K, Go=3xr/c
D
0 0,100 0,125 0,150 0,175 0,200

49 | 738149 | 217159 | 524249 | 1104184 21064,52

48 | 146138 | 42993 | 10379,07 | 21860,6 41703,49

47 | 216969 | 638313 | 15409,72 | 32456,27 61916,89

46 | 286276 | 8442308 | 2033445 | 4282887 81704,74

45 3539,2 | 10418,91 | 25152,99 | 529788 101066,68

44 42049 | 12371,1 | 2986588 | 62904,51 120003,4

43 | 485353 | 1427941 | 3447285 | 72607,87 | 138514,56

42 | 548724 | 1614384 | 389739 | 8208815 | 156600,17

41 | 6106,03 | 17964,39 | 43369,04 | 9134534 174260,2

40 67100 | 1974129 | 4765852 | 100379,8 | 19149504

P,=7,3575 MIla, To=300K, Gg=3kr/c
P 0,100 0,125 0,150 0,175 0,200
10,2P

74 1111,34 3268,82 7890,77 16619,15 31703,87
73 220757 649353 | 1567534 33014,91 62981,84
72 328908 | 9674598 | 2335427 49187,9 93834,59
71 4355,47 1281155 | 30926,99 65137,49 124261,44
70 5407,13 15904,85 | 38394,08 80864,32 154263,07
69 6443,88 1895428 | 4575525 96368,07 183839,14
68 746551 | 2195959 | 5301022 | 11164843 212989,3
67 847241 | 2492125 | 60159,55 | 126706,02 241714,26
66 94642 27838,8 | 67202,68 | 141540,22 2700133
65 1044127 | 3071271 | 7414017 | 15615165 297887,13




Taoanua 6.6

Py=9,81 MIla, To=300K, Go=3xr/c
P 0,100 0,125 0,150 0,175 0,200
10,2P
99 1484,35 | 4365,83 10538,77 22196,15 42342,87
98 2953,77 | 8687,77 20971,61 44169,22 84260,18
97 4408,27 | 12965,83 31298,54 65919,21 125751,94
96 5847,86 | 17200,02 41519,55 87446,12 166818,13
95 7272,52 | 21390,32 51634,63 108749,95 207458,76
94 8682,27 | 25536,75 61643,8 129830,7 247673,84
93 10077,09 | 29639,29 71547,04 150688,37 287463,35
92 11456,99 | 33697,96 81344,37 171322,95 328827,3
91 12821,98 | 37712,74 91035,78 191734,46 365765,69
90 14172,05 | 41683,65 100621,27 211922,89 404278,52
Tabauua 6.7
P,=4,905 MIIa, T¢=300K, Go=5kr/c
° 0,100 0,125 0,150 0,175 0,200
10,2

49 437,172 1293,435 3116,933 6511,566 12497,027

48 865,504 2560,728 6170,884 12891,57 2474157

47 1284,996 3801,882 9161,856 19140,018 36733,64

46 1695,648 5016,896 12089,85 25256,9 48473,23

45 2097,3 6205,5 1495458 31241,98 59959,96

44 2490,23 7368,27 17756,6 37095,67 71194,59

43 2874,36 8504,85 20495,66 42817,88 82176,74

42 3249,65 9615,304 23171,73 48408,52 92906,4

41 3616,104 10699,62 25784,82 53867,61 103383,59

40 3973, 11758,04 28335,22 59195,46 113608,66




Taoauna 6.8

000
P,=7,3575 MPa, To=300K, Go=4kr/c 000
D o0
0,100 0,125 0,150 0,175 0,200 [ ]
10,2P
74 658,38 1947,18 4691,72 9800,893 18809,393
73 1307,72 3867,976 9320,173 19469,89 37365,94
72 1948,42 5762,878 13885,93 29007,67 55670,37
71 2580,08 7631,39 18388,43 38413,56 73721,96
70 3203,1 9474,02 22828,22 47688,21 91521,43
69 3817,25 11290,496 27205,05 56831,304 109068,43
68 4422,38 130080,5 31518,6 65842,51 126362,57
67 5018,88 1484479 35969,46 74722,48 143404,6
66 5606,33 16582,61 39957,05 83470,57 160193,79
65 6185,144 18294,53 44081,95 92087,42 176730,87
Tadauna 6.9
Py=4,905 MIIa, To=300K, G¢=5xkr/c
P 0,100 0,125 0,150 0,175 0,200
10,2P
99 879,33 2600,68 6266,22 13089,89 25121,39
98 1749,91 5175,32 12469,5 26048,23 49990,31
97 2611,61 7723,63 18609,7 38874,9 74606,74
96 3464,48 10245,8 24687,0 51570,2 98970,69
95 4308,5 12742,01 30701,3 64133,87 123082,17
94 5143,66 15211,99 | 36652,63 76565,96 146941,16
93 5969,99 17655,83 | 42540,97 88866,5 170547,68
92 6787,49 20073,54 | 48366,33 101035,47 193901,71
91 7596,14 22465,1 54128,71 113072,9 217003,26
90 8395,96 24830,52 | 59828,11 124978,73 239852,33




Tao6auna 6.10

Py=4,905 MIIa, To=300K, G¢=5kr/c
° 0,100 0,125 0,150 0,175 0,200
10,2
49 291,626 853,858 2073,45 4320,67 8212,285
48 577,352 1690,456 4105 8554,04 16258,625
47 857,178 2509,794 6094,65 12700,1 24139,09
46 1131,104 | 3311,872 80424 24801,28 31853,62
45 1398,918 | 4096,434 9947,95 20730,01 39401,85
44 1661,044 | 4863,992 118119 24614,18 46784,53
43 1917,27 5614,29 13633,95 28411,05 54001,3
42 2167,596 | 6347,328 154141 32120,62 61052,15
41 2412,022 | 7063,106 17152,35 35742,89 67937,07
40 2650,76 7761,88 18849 39278,2 74656,46
Ta6auna 6.11
P,=7,3575 MIla, To=300K, G¢=5kr/c
P 0,100 0,125 0,150 0,175 0,200
10,2P

74 439,338 1285,614 3121,25 6503,51 12360,66
73 872,564 2553,712 6200,3 12919,38 24555,02
72 1300,102 | 3804,806 9237,75 19248,29 36583,85
71 1721,528 | 5038,384 12233,0 25489,56 48446,37
70 2137,266 | 6254,958 15186,65 | 31643,87 60143,36
69 2547,104 | 7454,272 18098,4 37710,88 71674,42
68 2950,83 8535,97 20967,95 | 43690,25 83039,19
67 3348,868 | 9800,864 23795,9 49582,66 94238,41
66 3740,794 | 10948,142 | 26581,65 | 56565,98 105271,3
65 4127,032 | 12078,416 29325,8 61105,24 116138,7




(Y Y
Taoauma 6.1: : °
O

P,=9,81 MIla, T¢=300K, G¢=5kr/c
° 0,100 0,125 0,150 0,175 0,200
10,2P

99 586,838 1717,114 4168,75 8686,01 5608,663
98 1167,776 3416,968 8295,6 17284,72 32851,4
97 1742,814 5099,562 12380,55 25796,13 49028,22
96 2311,952 6764,896 16423,6 34220,24 65039,13
95 2875,19 841297 20424,75 42557,05 80884,11
94 3432,528 10043,78 24384,0 50806,56 96563,17
93 3983,966 11657,338 28301,35 58968,77 112076,3
92 4529,504 13253,63 32176,8 67043,68 127423,5
91 5069,142 14832,66 36010,3 75031,29 142604,8
90 5602,88 16394,44 3982,3 82931,6 157620,2
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Puc. 6.14. Kpusvie 3a6ucumocmu de3pazmepHulx 0asieHus om 6e3pasmepHou
OIUHbL MPYOONPOB00a Npu paziuunblx 3Hadvenuax napamempa K.

‘P’ P? P &
A G S
2G*RT P, P, 2D

2
k-2 yim L= g
P}’ P 2D



6.2. MeToauka onpejejieHHsi MapaMeTPOB JIBUKEHHs Ta30BOr0 MOTOKA NMPH

MOJUTPONHOM Mpollecce ero Te4eHus Mo TPyoonpoBoay

1.YpaBHeHuEe HEPa3pBIBHOCTHU

G :V\i: const
V ]

(6.11)

2.YpaBHEHUE IBUKEHUS

vdp+WdW+dLmp=0 ,

(6.12)
3.YpaBHEHUE DHEPTUH
dq,=di+wdw
(6.13)
4.YpaBHEHUE COCTOSTHUE
Pv=zRT,
(6.14)
z=1+ap+ep’,

a=ao+a1T+a272, 6=60+61T+62T2,

(ao= -527,93; a1=2,5; a,=-0,2767-107; ¢,=14,154-10%

61=-601,39; 6,=0,6548)
W? dx
dL,,=¢ 2 D



0000
0000
0,221 pwD 1 o000
6:0’0032+Reo’237 ; Re= 2/1 - P = ; : :.

di:deT+[v-T(% o1 dp,

(6.15)

4x 4k
-dg,=— (T -T )dt =
da = (7 =T)di =

1

(T - TOK)dx y
(6.16)

mi—l
)m

P
T =Ty(—
P,

(6.17)

RT? RT
di=Cpdt+vdp-"p [ (a1+2a;T)P+(61+26,T)P°]dp-p (I+ap+ep’)dp  (6.18)




lst

T_?;R
Y
2
g
4

- -

0 05 1 7
T T T T’

= A A, A+
T-T T T T

OK

T T 2 T 3
3m-1 2m-1 1 m+1 _2m+l 3m+1

+N,P ™ +NP ™ +NP "+4N,P ™ +N,P ™ NP ™ + NP

A, ATok AT2 n- e EL
dr dx:Cp(—1+ 2 9% s ”“]dT+ﬂ(NOP " ++N,P ™ +N,P ™ +N,P

m+1

T m-2 m-3 m-4 m-5
+NyP+N,P ™ ++N P ™ +N,P™ + NP ™ + NP " JdP

(6.21)



4K m—1 | 1-m 1 5 s 2(1*'71) . . .
WX: Cpdln BP " _CPAZTokﬂ_P " _ECPA3Takﬁ_ P+ 0000
! X XX
No oM, Ny AR Ny OREt Ng SRR N, AR eo0o
m P P P P P
Pl om-1 T Im-1 Tem-1 TEm-1 T am-1 " :‘
N 3m-1 N, m-1 1 N, _mtd N _(2m+1)
_S pm 6 pm_ m__8 m 9 m - _
P + P N, -P
3m-1 m-1 7 m+1 2m+1
N _3m+l N N 2m+l N 2m-2 N 2m-3
10 p m + 11 p2 + 12 .P + 13 P + 14 P +
3m+1 2m 2m+1 2m-1 2m-3
N15 an%—4+ N16 PZ%—SJ
2m-1 2m-5 '
P
gdp+dw+§RCj (T+aOT+aIT2 +a,T’ +b0pT+b,T2p+b2T3pj><
(6.22) ] P ]
p A, ATy +—G3T"zk +1dT +
T T? T’
W=—V
m-1 6m-1 )5"‘-1 4m-1 3m-1 2m-1
Nop " +Nip ™ +N,p " +N;p " +Np " +Npp " +
_2 . X 717 7m+l 72m+| :0
(6 3) » +ﬂ+N6pm+N7p m +N3P m + dp

73n1+| 74m+| LH m-2
+Ngp " +Nyp " +Np+Nup” +Nsp ™ +
m-3 m-4 m-s

+Nup " +Nsp™ +Ngp "

v% W
(6.26)
T Py f .PW
" ZR GR 7 (6.27)

_ Ig P- Ig Po
- g(PT,) - Ig(RT) (6:28)




6.3. MeToauka onpejaejieHus CHJIbI HATAKEHUS THOKOT0 BECOMOT0

000
KJIMHOBHIHOTO PeMHS 000

Igds Puc.6.17. nemeHm 2ubko2o KuHO8UOHO20 PEMHSI



—Pcosd—(g—éd—vds sgds sin(p +a )+ (P+dP)cosd7¢+Qsin d7§0+(Q+dQ)

(6.29)

Psin d7 +Q cosd7 sgdscos(p + a ) -

2
-(Q +dQ)cosd7¢—éV—ds+(P +dP)sind7(p =0

P
(6.30)
—Pd—ssmd—¢+(P+dP)d—Ssn——Q—cosd—(o—
2 4 2 4
-(Q+ dQ)d—ScosdT(D—M +(M +dM)=0
(6.31)
M= g de
0 ds »
2
Q-M _g; 89 0Q_ EJd(D
ds ds® ds ds’
dP dv do d2p . |
— -0V —+EJ]—- =ogsin(ep +«a
ds ds ds ds? gsin(g )>
2 3
Pﬂg—&/—EJif-é©w4¢+a)
ds p ds®

. do 0000
S|n7—0 0000
o000
L X
[
(6.33)



2
A% 8p P, pEy 92 +iPd—¢ d 9 = g5, (cosasing +sina cose)
ds ds ds ds* F ds ds?
(6.39)
d” 0,3 4’ w32 _cpde BPZd—¢—95 (cos e sin ¢ —sin a cos @)
ds® F ds* ds ds ds
(6.40)
’ 1 AN
. A=|1- Po 1_50\/0 : B=——|1--%2>° :
rje: EF )\ EF EF|" EF
P 25, V2 P, . P )’
C=j1-—=>|1-—"2> =+ : _ 21 _ o .
( EFI EF J EFT H=4, (1 EF) ’
P=a,+as+a,s" +a,s°+a,s’
(6.41)

@ =b, +b;s+b,s* +b,s° +Db,s"

(6.42)



mpu  S=S, P=Py m @=0,
npu S=39; P=P, U p=¢,
o, = T S,
o2 R
(6.45)
P, =a,+a5, +a,5; +a,5; +a,5,
@, =0, +bs, +b,s; +bss; +b,s;
P, =8, +as +a,5 +a;; +a,5,
@, =b, +bs +b,s +b,s’ +D,s;
(6.46)

1 b,b
1-=b2|(S,-S,)- ==
( 2 oj(l 0) 2

1

(6.47)

b, (S, -S, )—b—zl(sl2 —sg)+%(sf —sg)+%(s;‘ —sg)+%(sf ~S3)=R, cosp, R, cosgp,

(6.48)
P, =P, +Q

—PVy +F Ve —Npp =BV, +R Vs —Npp

(6.49)

(s2-s2)- %(Zbobz +h?)s?-s2)- %(bob3 +b,b,)x

x (s —s;‘)—%(zb()m +2bb, +bZ)fSP S5 )=Rysing, +0,0,-R,sing,



6.4. MeToauka onpeaeleHUs HATSKEHUS KJIMHOBHIHOTO

PEMHSA HA YHYaCTKeE 00XBaTa MKUBOB r'H0KoOi nepexaun

Puc. 6.18.Cxema xnunopemennoii nepedayu

Puc.6.19.9nemenm eubxozo pemns na yuacmie 06xeama wKuga



do dv do
dF,._ —(P+ dP)cos— + 00 —ds+ Pcos—— — ogds(o + a) =0

(6.50)

2

&dssin(e + a) + (P + dP)sind%D+ Psind%[)—ids—dN =0

(6.51)

(6.52)

adP — f(aP —b)d¢+%x[f sin(p +a)+cos(p+a)ldp =0

1+ A
EF

(6.54)

AN 2( P)
a=1--2%2 b=5v, |1--2
€ EF mA EF

ra




(6.56)

a(l—EP—I’;de +%PdP —de(L-c+e")dp+gs,R,[fsin(p+a)+cos(p+a)lde =0,

b
rae d=f(aPA—b)c—$(p _gj

o(1- P g2 (e -p)- LS g) Hfere )

EF f
fg5 R, [cos (¢ + a)-cos a|+ gd,R,[sin(p + a)—sin a|=0

(6.57)



0000
0000
o000
o0
o
Ag PP _ b +(PA—b 1w P ~ e - 1)
EF  aEF EF EF
Al =SIO6 A ds:wf_CRzeﬁ”d(f’ T cRudp
2 . 1+ Ag o l—c—ce® § 1—c+ce”
:Lm(l—ﬁeﬁ/"‘)ﬁ)—%
f(1-c¢) I-c
P-P

d’ A, =dF, Asds, =dF

mp

ds .

(6.59)
dF,, =adP + gédscos(p + a).
- fo _
dzAmpzadsAF> Pa dP + g5,R,ds, —= f ° cos(p +a)do.
1+ce” -c
ads , 2
dA_ = (P, =P,)* = gd,R,ds ,c(1+c)x

" 2EF
X [sin (0, +a)-sin a]— gd,R,ds ,c(1+2¢)x



'YX
f§00
x sin & ez (fsing, —cosp,, )+ 21 +g6,R,05,c(1+2c)x ee@oe
fe+1 fe+1 00
oo
f0,5 ( ) i 2 foo o
X COS & fecosp  +sing . )]-— |+96,R,ds,c?sina X
f2+1 (006 ¢06 f2-|—1 g A''2 A f2-|-1
x(2fsingo'06—c03¢;6)+m}—g5AR2dsAc2x
e210 . o 2 f
X COS 2 f cos + sin _
[4f2+1( Pos ¢05> 4F2 41
av ,

N = S (P, — P, )" — g5,R,v,c(1+c)fsin (0., +a)-sin o |- g8, R,v,c(l+ 2¢)x

fo
: e . . 1
x $in 0{ = +1(f sin g, —cos ., )+ = +1]+ 95 ,R,v,c(1+ 2¢)x

fﬁﬂ;a 2 f(f’;a

X COS a[ ¥ (f CoS @, + sin (p;ﬁ)— fzf 1]+ 9o ,R,v,c%sin a[
+

X
+1 4f2+1

1

x(2fsinp  —-coso |+ ——
( €006 (006) 4f2+1

}— 9o ,R,v,C° x

X COS o e (2 cos g, +sin ¢, )- 21
417 +1 Por T P e



'YX X
av,, : 0coc
mpq - 2EF (PAO - PBO) - g550 R1V30C1(1+ Cl)x o0
: o
sin( ¢!, +a) —sin a]— g0 R V5 C,(1+2C;)sin a x
i e—f%l;ﬁ 1 ]
2 +1(— fsing! +cos el )+ |t 96g RV, C,(1+2C,)c0s a x
R ] 6.61
(T oos gl —sin pl) + le 7|+ 908, RiV,,Clsin @ x .
+ +
i e—Zf(/’loﬁ ]
T +1(—2 fsing! —cospl )+ |t 055 RV C2C0S & x
- —2f(p| -
e " : 2 f
~2fcos @ +sing! )+
4f2-|-1( ¢06 ¢06) 4f2+1
P, - P —
VAO — (1 + AOEFpe;O jVBO,VAI — (1 + AIEFpBO jVBO,
P _
v, = (1 + BIEFpBO jVBO9






d’y, (XY
M e =-C¢, 000
o0

(6.62)
V. = %{Zm{ [% rsin(p—90°) +a+&]+mrsin(p—90°) +

a+g]+my(y, +&)+my(y, +&)+(m+m,)-&}
(6.63)
V=108 (180°-¢) +y4p +0,51 cosp+ a
Vy=-rcosg+y,z+lcosf+4,cos0+a
(6.64)

sin sin sin
V=TI LA p -A, sin6
tga tgo tgo

Sing =%(r sinp—A,;sina—A,sint

V.= 1M [Mf- (m1+ mo, +
Ma)r €OS @ - (M2 + m3)r? sin“e /41 + (my+ ma)r (AiSina + Asin@)singl2l + (m, +

m3) Ac0Sa + my A, c0s6 + (m1’+ mi+ my+ m3)a + (O,5m2+ m3)l]

& a 0
M~ +C¢& =-f(mi+mo+mg)ra®+roll(my+ms)(4; cosa + A, cosd)] coswt -
a o 0 0
r/l(mo+ms) (4, cosa-A; sina+A4, cos-4, 2siné-Aw’sina-A,w’sind)sinwt+
o a

0,5r’ w*/l(m,+m3) cos2awt + (My+ms) (4 sina + A, “cosa) +
(6.66)



00
- . 000
M3, (9sin@ +9 °cos ) bt
E=A4(a,0) sinot+Bq(a,0)cosot + Ay(a,0) sin,ot + By(a,0)cos,ot + C(&,0)
(6.67)
MA @’sinat - MBiow’cosat - AMA,w’sin2wt - 4MB,w’cos2wt + cAiSinwt +

cB1COSwt +cAsSin2wt + ¢Bacos2wt +C(a,O)c=-flmy + m, + ma)re’ +
roll(my+ms) (4. cosa + A2‘9 cosd)] cosat-r/l(my+ms) (AL cosa - Af sina +
4,9 c0560-4,9%s5in6 - Ayw’sina -Aa°sind) sinet + 0,5r°@*/l(m,+ms) cos2mt +

(Mo+ms) (4% sina + 4,7 2cosa) + mad, (7 sin +9 2cosé)

&=4 (a,0)sin (ot + y)+ B (a, 0) sin Qaot+y) + C(a, 0)
r My +M, + My l—ﬁ-gCOSa—ﬁ-g
1 C M ! o ! o

Maw?

cosé

A(a,0) =




Thank you for your
attentions!




